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At the birthday party, players tossed 4 
bean bags onto the target on their turn. 

Then they played “Guess which
rings I landed on to make my score.”

Problem
Which rings did each child land on?

Jake
scored 36

Claire
scored 27

Sanjeet
scored 41

Chen
scored 32

Sting in the Tail
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Sting in the Tail

There are only four scores that can be 
made in two different ways when four 
bean bags are tossed onto this target. 
These are:

31, 35, 40 and 50.

What are the two different ways in which 
each of these totals can be made?
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